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Problem Set 6
CSE 599S - Lattices
Winter 2023

Exercise 2.4 (10pts)
Let B € R™" be a regular matrix. Prove that YV C n- A, (A) - B5 where V is the Voronoi cell of the
lattice A := A(B).

Exercise 2.7 (10pts)

Prove the following statement: Let A C R” be a full rank lattice and let t € R" be a vector with
CVP(A,1) <27"/2712;(A). Then one can find a vector x € A with ||x —t||, = CVP(A,t) in polynomial
time.

Exercise 3.3 (10pts)
Let A C R” be a full rank lattice and let K C R" be a symmetric convex body. Then for any ¢ > 0,
ANt A1 (AK)-K| < (2t+1)".



